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Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Subject Name : PHILOSOPHY
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
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Change Background Color : No
Change Theme : No
Help Button : No
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Group 1

Group Number : 1

Group Id : 51714470
Group Maximum Duration : 0

Group Minimum Duration : 180

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 300

Is this Group for Examiner? : No
Examiner permission : Cant View

Show Progress Bar? : No



Paper 1

Section Id : 517144139
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144428
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 51714410502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
33@5530650“3)@65 "egRoD arErHtndn" edne S EAY

Options :
The physical location of an institution.
;‘po g°aE 608

1. %

The number of students in a classroom.
S5Kaa Sjmgiﬁg}@ Loy

The arrangement of furniture in a classroom.
Cotatelon PB)St esndE

The overall context in which learning takes place.
4 CIALYSIS W 261 s S[elaleytasy

Question Number : 2 Question Id : 51714410503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
T SEEE Dy 2 BB e %;Dmﬁﬁ &0EN0H

Options :

Elementary education
(aRtHang Aol

1. ®

Secondary education
E::S@cjﬁj Alaly

2. %

Tertiary education
- é@é@ﬁ; ATl

‘Vocational education
L% Eieﬁ 3]655

Question Number : 3 Question Id : 51714410504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?

2988 &EHs®, &m@dﬁgt} FPese s0es HBHE Sgen aBD “Q@G
Options :

Virtual discussion boards
H’}fﬂaa’}ﬁ o™y ﬁaﬂﬁjﬁm

Online chat rooms

5w OO8S T Kthen

Social media platforms
JrsoRE VIRV J6Een

3. %



Face-to-face in the classroom

. S858 KBS Logr Hnd

Question Number : 4 Question Id : 51714410505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?
Syaho (585 D) (FPHNE Ha 6?

Options :

Offering degree programs online.
©5858° B(f s EyEwe [HSTED

1. ®

Providing paid specialized courses.
, x B0 (@58 B*nen Homen Dosne

Broadcasting educational content through TV channels.

o B0 T oxoe Dovg DAY B60 Scine

Conducting in-person workshops and seminars.
Sgohore Htyarden, e dErod

Question Number : 5 Question Id : 51714410506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
8080 ([@E)en, B8NS eioddenn, SENDS (Harriaron OB &S

Options :
Traditional teaching methods
Folmrahy Sesae Heen

1. ®



ICT-based assessment tools

- ICT- espeBe8 00y HNED

Qutdated educational technologies
, % S00308% Doy FoBAESen

Non-interactive resources

L% ;f:]r:frf:rujééé Ben

Question Number : 6 Question Id : 51714410507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
Elenvelgl) S 588555 edm

Options :

Observing and describing phenomena without intervening

. éﬁég}o D08 %o Cﬁg% DHoTre HBded P8,
1.

Manipulating variables to establish cause-and-effect relationships
5286 [Hgrd Homogred Dogrobohid JeroTeid R vleh)] Dasn

Conducting surveys and interviews to gather opinions
©darch DESe% éﬁé@;ﬁ, z08mgen DBkeroih

Analyzing historical documents and records

4% OErE)E Jsro, bevdhe AL

Question Number : 7 Question Id : 51714410508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Post-positivism in research suggests that:
HBE°EHE® 5y araddad SrdoHs

Options :

Objective truths can be directly accessed without the influence of human
perception.
DEars Dered,drds (N $8 Bowe (DEgEore 3(55’355}3563.

Subjective experiences play no role in shaping research outcomes.
5888 Hhare @ééa}a}eﬁéﬁ HEars odhfare ard Gotth

While objective observation is important, researchers’ interpretations also
matter.

P D Bars 5888 g, H88PE%D DHBemen Erid l@rai0gges DHareaieom.
3.

Research should solely rely on abstract theories rather than empirical
evidence.
5688558 CINVATY el %ﬂgm_;'_._} 5eE0°, ollier E}@;O@ﬂ@_g’g ot

4 % STEOTED.

Question Number : 8 Question Id : 51714410509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
DGRy D0BDOE SS808® DB el

Options :

Using too many references in a paper
2.8 m&ﬁa’mﬁﬁ TPER GSTIPETPOERE) Sl G

Quoting a source directly without citation

- ©OPH0 SO [B&gEorne DR athed

Rewriting someone else's work in your own words
=88 HrHe HAD o ﬁé@éémﬂﬁf’ 80 (seaingd



Properly citing sources to give credit to the original authors

. eden e TEardd dthetd S8 &i0ose
4.

Question Number : 9 Question Id : 51714410510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.€ H088 ST aﬂééoéﬁ Dgrrren Hresiren (Bosn 8.
Options :

Methods, Introduction, Results, Discussion, Conclusion, References
éﬁgr’_’a}-&n, $HBBcHEw, phacen, 58, dwhod, é@ia}é@a

1. ®

Introduction, Methods, Results, Discussion, Conclusion, References
- $HBBcHm, a’}ge‘_ﬁjm, HD&ren, S, Ao, ﬁgﬁmaﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
3 % HBHcHdm, WAoo, égéj@, POeren, IY), égﬁaﬁé@

Results, Methods, Introduction. Conclusion, Discussion, References
A% SHBeeen, égéj@::, 28Uchen, SwA0D, SY), ﬁ;ﬁa}éﬂa

Question Number : 10 Question Id : 51714410511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments" section in a thesis?
%mgoé Wéﬁéﬂ@@ﬁ égé@ée_} Deridn H5HGa080

Options :

To list all the references used in the research
58855565 ﬁﬁ@é@ erfem Soirt Dained



To introduce the research methodology
568D HEBY HBIcho Jasne

To acknowledge and thank individuals who contributed to the research
568555% Eéﬁiﬁuj&é é@@@otﬂﬁé Bod), Pdgroren Sens)éd

To present counterarguments to the research findings
588858 PPeeD HAEreSEen J050e

Sub-Section Number : 2
Sub-Section Id : 517144429
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410512 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow
Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K508 (Botd s Dirardo egrdore Q. 11:506 Q. 15 (Dol Jsrgraroen

lamahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the
mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the

front door to the office of Mr. Storer. The vestibule of the house, from which a staircase

ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

QBI=6 P66 Gng) o, Hurth wodie IHS® LrES DRBEHS FHdo, 1700 &°
DBoSabiod. ad S5E26 @eﬁ@ﬁ CoH DY DoeEd Iy gy $ob.FOko ot e
DS orgrinmd o) DB HERFes SDAS ard wof o) ey HBron
3080 o) S8 Trrra) VPN DALY Hbdin Seden BOAD af &0 3eD AT
D58 BBeeo BHre Hohod. NET Hod JB =HETrond® Br&S Dol SEE art.
KNG DBHD s, 830@5 @55 so%ech notd Sendid 56}&@‘}0&1 508  Haroe
(558 o8 Dty InSB GoA HOBAL (Gronol BroHed s athgper DEyjEeow.

Co&&68 DBHID g8 &7)00. SRS Henden oegoe 206 SanE 6 &Pereta

H3¥0 &ob.

Sub questions

Question Number : 11 Question Id : 51714410513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE o B3eb ﬁgiﬁS tfb}é@r Do a8 HHBcm

Options :

stately
KOS58,
1. R

in ruins

) % BBODH



uninhabitable
SJEI“EC‘:@F?%D 506

3. %

inhospitable
4 % ©B80IIG

Question Number : 12 Question Id : 51714410514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
Ao &b Eﬁé@iﬁm&o&:

Options :
red stone
| % o8 Trow

sand stone
5 % 208 TPOD

wood

3 ¥ ﬁéé,

stones

4% TR

Question Number : 13 Question Id : 51714410515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of

es PN B & Dol sob
Options :
grass

0BG
1. G ]



wilderness
&atﬁméo

low trees
ALV LY

flowering pots

4% e Botien

Question Number : 14 Question Id : 51714410516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
a8 Ja) &) ohén &8 35&&@0&3.
Options :
garden
1. % &hes
courtyard
, % lgrofieo
dining room
3 Shesrer K8
office
4 % SieENIleW o)

Question Number : 15 Question Id : 51714410517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 2oe8® Dol @ ©80 aﬁﬁt:, 280

Options :



Extensive

DFBID
1w T

circumference
ﬁj&;ﬂg%“@e‘_ﬁ

dimension
3 % B30

uncommoen

L% SEvEae !

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

3
517144430
Yes

null

Question Number : 16 Question Id : 51714410518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

SEVIRIER] @rro Jarbiobd Hbcn Joyerds Sonoerd)) DBYBSEos

HDSEahHHEoh.
Options :
positive
L& FeinEee
passive
2. % D&
reflective
3 % 6*3@& eai 55 &P Erl
retentive
e S8 He

4. %



Question Number : 17 Question Id : 51714410519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
&858 9ET H18aHS® Hors e56%0 sﬁa’ntga’)oé@é
Glstyatate
Options :

stress management
288 DBes

1. %

listening
- DVEE Jpesgo

crisis management

}fmgﬁeﬁ RBsTEs

time management
Q2Ec%H VBT

Question Number : 18 Question Id : 51714410520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one
other cultures.

=tte) ﬁoﬁg&é)@_gg_ Soitio Ded, @Déé&@f}&@ Rogrdes ®8inbsen
Bom FrHeod
Options :
praises

|k BE0%

respects
I Aetso



practices
Sty

3. %

belittles

L x ORI

Question Number : 19 Question Id : 51714410521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
E‘Sﬂﬁiﬁa 5Een 2.8 DA DPjjore LrnRay)D, ob St SEraroeds
m&@?&;ﬁ@cﬁ), AR @08 wotrth
)
Options :

Psychological
L% APHOEDD

physical
2% T8

emotional
epﬁﬁﬁéugﬁ

perception

J""D
. RIS

Question Number : 20 Question Id : 51714410522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Twitter’ and ‘Linkedin’ are examples of media
‘ﬁé&gg’ SoBa5» ‘E}o§5 : SrgEr8 suestmen

Options :



social
L& eV LT Vet

digital

, % BE0S

Print

3 % SWBS

Traditional

20D rcHE
4. % - =

Question Number : 21 Question Id : 51714410523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,

Options :
| % 19020

, » 19200

19220

21120

Question Number : 22 Question Id : 51714410524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, ___, SSG, XUD

Options :



% MPI

Mal

NPJ

NQJ

Question Number : 23 Question Id : 51714410525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.5 DQa) §6 o706 KITE @©F Do), 45677 SHO0GI RATE @08 D)
8967 &6 T W, & 27AeS TAKE @& HTQ)) der §6& D

Options :
6974

1. =

6794

2. %

3 6479

6947

Question Number : 24 Question Id : 51714410526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second number is____

DO Hozen 2:7 NS’ o) om. (D68 2,83¢3 12 DoDSL e,
OISO B0EHE3 HOCW B0 DO Vad)ed 1:3 )0, Boddad
QOWPE___ ?

Options :

% 84
, % 112
w126

, v 168

Question Number : 25 Question Id : 51714410527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is

16 SVY® B S 12 HNaY© €9:0385) I DaIFH0 20 S, €78
FoH0

Options :

| % 16.66%

5 % 20%

25%

0,
. 33.33%

Question Number : 26 Question Id : 51714410528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

leo8erdden:

FOBOQ) DS 5SS,
') Zoen 08 seren.
Conclusions:

l. All hills are ropes.

I. No hill is rope.
1. Some ropes are definitely hills.

BT3P eN:
. So%od) =F.
Il. & 50 Sy e 5.
1. §Q) &0 DD )SSOTP Focsen.
Options :
| follow

Either | or Il follow

2. %

Il follow
3. %

Either Il or Il follow.
4. &+

Question Number : 27 Question Id : 51714410529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 DT send) 336" TR 110 HOO), K350 120 HOO
DTN DONOCET 350, BOH IBPS’ 30 H0A Deesthen
DOV . SEHBS D0H0A Drzen ENK0 2.8 HJPS
POV ?

Options :

L% 120

, » 160

5 % 140

4 % 180

Question Number : 28 Question Id : 51714410530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father's only daughter-in-law’s brother related to me?
S5 09,0 2.8 PSSy 58O 5251088 T°50 arodigo Dee3?

Options :
Father
| % S0l

Paternal Uncle
?;Jtﬂavécl

Maternal Uncle

| STt

Cousin



Question Number : 29 Question Id : 51714410531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

58D QORODM AT esm 6728 1000 @drrl8d VoV0H0W) &

L=

1806 73 HBHO SO DO?
Options :

Linga/Sadhana is the middle term
DORIED 30 soes Do

1. ®

Paksa is the minor term
28, A &KJC';L 280

Sadhya is the major term
3 % P @30 [Heed Hio

Hetu is the minor term

TP ©R0 E]B’acl S0
4.

Question Number : 30 Question Id : 51714410532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is true with respect to the first figure of categorical
syllogism?
S5SOESe BRNE) JE3 @OTH HODOHOD & (80D 3365 DA HDebs0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise

0 D0 @RA (DTS |Habdho T30E) ©0F0 HOAN VX)) es3:588

L Q30E) lerdredso



The middle term is the predicate of the major premise and subject of the

minor premise
0 D0 RO D) Hdhdbo TRNEY (DT 358389 DAL o5

) % OB (Faredso

The middle term is the subject of the major premise and the predicate of the
conclusion

3 % D5 D0 VD DT &G0 SHOAW S0A0D) TBE) ©oFo

The middle term is the subject of the minor premise and the predicate of the

conclusion
AR UokEiale @00 V) Habdho B0 SNR0Y) A3E), e0d0

Sub-Section Number : 4
Sub-Section Id : 517144431
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410533 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow
Volume Control : No
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
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In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
806 ¢3S (1BRN0 DO?
Options :
Number of female students in chemistry department
L% SR oS Hrer Doeshe Sops

Number of female students in Botany department
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Number of faculty teaching Management
% RS DO 30N 5rese) Howe

Number of male students in chemistry department
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the

fees collected are paid towards salary for the faculty?
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007
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In which Department is the ratio of faculty to students, the lowest?
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Options :
Botany

| x D8RO0
Chemistry

) o Sad@

Language
3 % ARAY
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?
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ASCII stands for ?
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Options :

- American Standard Code for Information Interchange

American Standard Code for Information Interaction

3 % American Standard Computer for Information Interchange

L% American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
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Options :

Internet
1. #

) Intranet

3 % Ethernet

% Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-fogrecie &8td J08 Eoirth I0HH

Options :

Ministry of Education

L Qg Sool@Eo

Ministry of Finance

, % «?ﬁgé S00(BS0

Ministry of Electronics and Communication
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Ministry of Mines
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RAM means ........
TPel) &P

Options :
Random Access Memory
1. ¢

Rapid Access Memory
Remote Access Memory

4 % None of the above
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Which is an example of a cloud-based file storage service?
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Options :

Whatsapp

Mozilla Firefox

3 @ Dropbox
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The target year for achieving the Sustainable Development Goal is...
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Options :

2025

, » 2030

2035

3. %

2040
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Which of the following statements is true about global warming?
(5505 SBME® K% HIND D HBFED HBFHH?

Options :

Global warming has led to large scale deforestation
o3 SEW G BB 638 QLR 682086

1. %

Global warming has led to a rise in the sea levels
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Global warming has led to a rapid increase in the population across
several countries
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Global warming has led to a huge amount of waste generation
(5%H03 S8 b a’;ejmv 6588 B8%H086.
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
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Options :

Carbon monoxide

- 53@5 Soas)B

Carbon dioxide

5 % 80 8 =86

Sulphur dioxide
3 % 96 @ ugib

Nitrous dioxide
4% 3D 56
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The National Institute of Disaster Management (NIDM) was established
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Options :

September 23, 2002
?:f%g_oearzja 23,2002

August 14, 2001
e_aﬁ";g 14,2001

October 16, 2003
; « ©@Sath 16,2003

August 14, 2004
@ﬁ‘% 14,2004
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Where was the first International Earth Summit held?
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Options :
| % Kyoto

- Rio de janeiro

New Delhi

3. %

New Yark
4. ®
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What do you mean by ‘Shastras'?
F|een eidre



Options :

Creative literature
ﬁg,maﬂééé %ﬂﬁ:ﬂeﬁééo

Learned disciplines
) JBNEF) Fo(een

Imaginative
é,aﬁe:ééé
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Creative and Imaginative
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Who was the chairman of NEP 2020 drafting committee?
.3 2020 swaronce egEhHid a8 ?

Options :

Kailasavadivoo Sivan

Dr. K. Kasturirangan

Prof. Yaspal Sharma

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?
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Options :
Law

L ogdh B[
Fine Arts

) x 0D E¥en

Ayurveda
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Management

DB Toes
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Which is a solution to reduce the progress of climate change?
TSt Py HB0 SHoHeH HBET)BHE
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Greenhouse Gas
s
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Wind Power
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Deforestation
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Fossil Fuel
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
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Resource model
| & OB diorae

ltinerant model
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Both Resource and ltinerant models
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Dual Teaching Model
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Who among the following is the presiding deity of Rta?
& 6195 798° 5% =5.8.0 soogg B

Options :
Indra
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5 DBEDED
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G300
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Which of the following Schools uses the method of analysing the nature of Self in
waking, dreaming and deep sleep states?
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Buddhism

 gnbeso
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Yoga
w G

‘Vedanta
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The path of disinterested performance of duties as service of God is
B adE a8 80 96 RBETE AP BE° 90O

Options :
Karmayoga
Sle)leniy

1. ¢
Jiidnayoga
CH e vilate)

2. % ®
Bhaktiyoga

3 % geario
Raja Yoga
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The invariable relation between the Hetuand the Sadhya in THE Nyaya Philosophy is
known as
R S8)Ew (DHsesn V) ﬁvcﬁéa EnTaly ?86@26 RDoOGRRY

Options :

Paramarsa

éc}va’mﬁ% @otHto
1. %

Vyapti
- at_g?g ZlenYeY)

Anumana
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KhyatiVada according to Indian philosophical schools means
gl aels ?QEISO@"EJ [B5eB0 g8 aPdanre
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Theory of error
&°4, Soroaren
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Theory of truth
&g VTPoEEED
[~
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Theory of falsehood
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None of the above
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Dravyatva according to the Vaisesikas is an instance of
Fedsee (HseBo (£5835e8g evadre
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KevalaSamanya
256 APEg
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KevalaVisesa
B850 93
Samanya- Visesa
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Who among the following philosophers holds that all JAana is Prama?
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Kumarila

% Eresieber



Vasubandhu

FAPSYEAOIAY
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Kanfada
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Prabhakara
Hersl
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The relation between the body and the self is
#6850 t‘ié_ﬁéﬂ 2085 DoBoPEn
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Samyoga

..,..l'_‘:'
L HoairEh

Samavaya
& sherct

Sarupya

ARSI
3. % -

None of the above.
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Which of the following is not a means of Sabdagraha?
& BIHD S OB %’e%{ﬁ?‘.jv 550 Bes

Options :

Aptavakya
e93a7°8g
1. ®

Tarka

- én‘:ﬁ%

Vrddha- VVyavahara
a’aejtﬁ - 5058
&

3. %
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‘Sarvam Dukham’is the dictum upheld by
B0 g’ e S78 D K}ejﬁgc“é&
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Jaina
230
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The imposition of some quality on a thing where it is not, is termed as
B0 H:0HH 2.8 Hedn @arBoHe
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Avidya
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What it is the Upanisadic view of Mukti?
&2 Uahe (BHsdo dnd edme
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Knowledge of Atman

l‘;ﬁéﬁé SIS
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Knowledge of Brahman
(@s5pes apidaim
2. % )

Unity of Brahman and Atman

- @s5es, B8 DBEH

None of the above
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What is the name given to Sankara'sSatkaryavada?
FoEHN So9sy rssmdd e 2
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Vijnana—Vivartavada

e - D>l a8
1. %

Brahma-Vivartavada

- @3y - e, 5es

Prakriti-Parinamavada
DE)S - HOereD 78

Brahma-Parinamaaada
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Tirthankara in Jaina literature stands for
e irdod” égosﬁ Ehlar
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Follower of a faith

| % DTZ) @inStoen

Propounder of faith
) @ DTRD (2SBarsen

A neutral man

3 S A

Atheist
NIy
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Jaina metaphysics is known as
Eioe S8 2aimiD
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Idealistic Pluralism
@ES-E% Dot ®@oth
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Realistic Pluralism
PR @0 SEn
2.

Idealistic Monism
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a3 B Sishota
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Prajfia, Sla and Samadhi are the key concepts of
@’:%, 8oy, B5H S Bobrd S0g5 grsiden
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Hinduism
Ejvocﬁjnééa’m

Jainism
- B0e=50
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Buddhism
enBezSo
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Sikhism
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Match List | and List |l and select the code correctly matched:
e |, eefem |l, 23832 H6m 228 @iH B8 doHdm.

List -1 List Il
a. Suddha Advaita i. Nimbarka
-‘?ﬁg @Q&é ana}vtf%
b. Visista Advaitavada ii. Vallabha
D83 BT Herds
c. Dvaitavada jii. Ramanuja
BB sares (ST VTN
d. Dvaitadvaitavada iv. Madhva
Qéé, @@Bge:savtﬁ EVIAT)
Codes:
aJOEIeD
Options :
[ % a-iii, b-ii, c-i, d-iv
a-ii, b-iii, c-iv, d-i
2.
a-iv, b-ii, c-iii, d-i
3.
a-i, b-ii, c-iii, d-iv
4.
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In the following inference there is fallacy of:
B8 @bas® Ko gros

‘Sky-flower is fragrant because it has flowerness in it’
t’@@é&m Hed @?é‘{g}@é}]fﬁﬂ s &ob.



Options :

Anekantika
OoE08E

1. ®

Satpratipaksa

£ Tt oyt
N@Lmejmm

Badhita
e e

Asrayasiddha

o3| FA0RE
4. ¢ 2
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According to the Mimamsa, the validity of knowledge is
Qoo [HEeEEn gpd) Denaren

Options :

Intrinsic

©0S85HE
1. v

Extrinsic

BeTee80i0
2. 0 —

Both intrinsic and extrinsic
. ®o&8%0, @erBE0 BOLTM

Neither intrinsic or extrinsic
©@0%8%0 529, alrfdo st
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Which one of the following schools holds that God exists, but he has not
created the world?

& BIrHd S » ?JDSDéEﬁD PRDonED &I, 570 S (DH0WRR)
8550 ﬁﬁ%@fﬁéﬁﬁj

E_.
Options :
Vaisesika
Sonk

Carvaka
AL S L]
(%]

Yoga

3 @ oxvitet

Nyaya

4w TS
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Who among the following contemporary philosophers stated that ‘Religion
is not meant for empty belly'?
fossn grd EhHHgd 8t © N & B 550509 ééﬁf@ﬁeﬁﬁ Ve

Options :

Radhakrishnan
SIS

Tagore

R



Krishnamurti

3. Sgan0
Vivekananda
4 D&
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What is the right sequence of triple process of evolution, according to Sri
Aurobindo?
©580H (Hse8dm, Hoerd St HBHeE? $8aHIH EHhdn OO

Options :

Heightening, Widening and Integration.
200, 5&605&&3,55&@#&0

1. ®
Widening, Heightening and Integration
5Bohey, oy, a’iéoéﬁéo

2. ¥
Integration, Heightening and Widening
Sayrdo, 0D, DHBoHE

3. %
Karma, Yoga and Bhakti
58, aoel S0Bcim 258

4. i
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According to Gandhi, the goal of constructive programme is
Mo (Hs°8am Rloﬂéaavééé sefigBine)) eFsm



Options :

Providing economic relief to the unemployed
g)éjﬁséﬁjﬂgj @gé HeecHEn wobohéd

Distributing some wages to spinners and weavers
HE8 708 JSIT 08 Fod Hddo Hohe

Creating a non- violent society

v 2o B QaeEed)) S5 BADE
3. ¢

Quit India programme
4 % EelTal] &-&*ﬂ&"@c‘jm suc‘j&éa’)}a’m
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Who amongst the following thinkers gave prominent emphasis on the concept
of ‘Intellect and Intuition'?
& (800 08" SE5hed® 30D HOW o036 Y BIwporT SwHoHE

Options :

K.C. Bhattacharya

8.5, #hoel
] % R

S. Radhakrishnan

N -
L o R D"ﬁ)‘“é&-ﬁﬂg

Ighal

e 50

M.N. Roy
é90.0)0. Trdn

4. %
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The book ‘My Experiments with Truth’ is written by
‘D 0EyDBDotn) DS (torsd’ @i DY BSonss.
Options :

JidduKrishnamurty
ity @gmaa
L::‘- i

1. %

SwamiYogananda
&0 APPSO

Shri RamanaMaharshi
[gét‘ja’):wea a’m;’Jﬂql

Mahatma Gandhi

- éj‘!’.jﬂéé mob)
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Who among the following propounded the concept of ‘'subject as freedom'?
HB% OF (Do’ st (H8ar60H6?
e3 5
Options :
K.C. Bhattacharya

L &0 ?;5%5&65

M.N. Roy
, % ODO.0I. T

A.K.Coomaraswami
o). 8. @miﬂﬁ‘ﬁﬂh



S. Radhakrishnan

~E -
L . D"ﬁf‘*égcﬁﬁg
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The idea of 'supermind’ is connected with the philosophy of
TrHE Dol @F s HId 8 Jorosos’ Eod &obd

Options :
S. Radhakrishnan

B

). D“(;Pé&%&g

T.M.P. Mahadevan
o B.05.2. LIS

2. %

Sri Aurobindo
3 18 ©b69o&d

K.C. Bhattacharya
4 % 8. Q. 9,5%@65
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Match List-1 with List-1l ad select correct answer by using the given code:
e |, edee |, 2430 88 8:50H0tn HBGHS saradd dohdn

List | List Il
(Books) (Authors)
2)easeen BSonsen
a. Religion of Man I. Sri Aurobindo
BDRCHS &5 DS 13 26908
b. Freedom from the Known ii. Rabindranath Tagore
o D & S5 5DolSE triHb
c. Eastern Religions and Western Thought  iii. J. Krishnamurty
%56) BDAchHoky HOH JHG) 7S 2. 8358
d. The life Divine iv. S. Radhakrishnan
& 85 &35 CHR. TLEBHS
Codes:
58y
Options :

1. % a-i, b-iii, c-ii, d-iv

, % a-ii, b-i, c-iv, d-iii

3 % a-iii, b-iv, c-i, d-ii

a-ii, b-iii, c-iv, d-i
4.
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‘Sarvadharma Samabhava’according to Gandhi means
By rﬁtﬂé 2DEATeEd @08 mrod b (Hsedo

Options :
All religions should be synthesized

[ % o)) Sracoid H0320T0d



All religions teach moral values
@) Hraren 385 Dendodn SHTron

All religions are to be treated equally

Ei'gu& SeeErern warenore Soeeed)
3.9

There is the unity of all religions.
@) Srere &t 2ES Gob.
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True knowledge according to J. Krishnamurty is
2. 535m0 b (se8ain Desghi agmidein
Options :
revealed by mystics
AR Sde oeoe @ddhen HEob.

1. *

conditioned by experience
wngiHo ogme A8)Bod

obtained by religious reflections
. 508 (HSdoare TRoe dB)B0h

3.
unconditional awareness
LB&en 89 edmrded

4. &
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Who said that ‘Concepts without percepts are empty and percepts without
concepts are blind'?
‘@drEd B0 grdden Ereiigm. 2PHHBY wHrrEHen fﬁ%&‘}' 250 eNb JHH?

Options :

Kant

1\?,51305

Locke

Berkeley

3 % a}ﬁéﬁ)

Spinoza

4 % ?oojﬁﬁ'aﬂ
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The philosophical concept of God as the infinite and boundless matter was first
advocated by
G550 edosin, fmﬁﬁgéﬁ)&, ©i% Jorod grHddn Fntse @ﬂﬁ}%ﬁ&.

Options :

Aristotle
@63;;&5

Anaximander

) @ &)aﬁ?ﬁ}éj':otﬁE

Anslem
98 2o

3. %



Heraclitus
Eeier =1
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Who among the following says, ‘Act as a member of kingdom of ends’'?
‘Bohien &9 20&) Gng) S¢xdrr (@Hadoh oFb.

Options :

Aristotle
@6@3&5

Spinoza
?;:Q,Sﬁoaﬂ

Mill
3 % 0O

Kant
5P06
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Spinoza explained the relation between mind and body by the help of
#6580, HsHe S8 DoBOLPRY) B H5ecHo&d ?&}nj,c%ﬁomv LBbooetD

Options :

Interactionism
ééégjéavtﬁa’m



Parallelism

) PDATOSEBE FreEm

Pre-established harmony
BNOLSITS %eﬁé&é ﬁué}eﬁ%m

Identity-in-difference.

| x 388 0BoD
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The objects of phenomenological enquiry are
EHRRCH DeeBes ogen
Options :
External Objects

- wa’j‘g OF°5eD

Intentional objects
, ﬁéé@é&é DFGED

2. %
Extensional objects
Er&fos) egen

3. %
Ideal Objects

4 % @cﬁéﬁ* OFeD
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Given below are two statements, one labelled as Assertion(A), and the other
As Reason (R):

58)% Both S6Zen mé&mm&w :jej,ﬁ}éiﬂm(ﬁ), setesan(R)

Assertion (A): According to Quine, the verificationist theory has taken
language in a very piecemeal fashion.

tﬁejgjéém(ﬂ): B0 (Ssetam, cﬁe*:,ﬁ}ética Dpesdsy DLroSsin SnHen SnHe Bast
ErHEEE B,

Reason (R): It therefore has resulted in a sort of reductionism.
In the context of the above two statements, which of the following
is correct?

stman(R): @othded @b éﬁo?{}jaﬁiﬁem Sdiedob.

In the context of the above two statements, which of the following is correct?
2 Both JBEe HoisGod® BrHd adS° Db SO,

Code:
55531

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).

(A), (R) Both BBGTI. (R). (A) Bn¥) HBIDS DBHes
[ v

Both (A) and (R) are true but (R) is not the correct explanation of (A).
. (A), (R) Bots ﬁ&@a;ﬁé. 5o (R), (A) GnE) HBGHS DdHBes s°tH

(A) is true but (R) is false.

3 % (A) 5BcHHG (R) D830 seth

(A) is false but (R is true.

4 % (A) ©HBahdd s=th (R) SBaHRG
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Both Plato and Aristotle believed that knowledge must be
265, @Eﬁ-i};&ﬁ [Ssebo, %K)m

Options :



of matter and not form
2.8 DRSDo, Bedsmw B

both of form and matter
Srssin, DHcHSr B

neither of matter nor of form
D0Hdw 50, GrHdn st

of form and not matter

4 o 50 =09 Dhcho B
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The ontological proof for the existence of God is propounded by
35 688 88 B Berdid (H8arH0DH6

Options :

St. Anslem and Ramanuja
20Ho5. R 0B TeRrERE

St. Thomas Acquinas and Madhva
ohoth. rEbn oo &ban HreD

St, Thomas Acquinas and Patanjali
QoHoth. e Q8ed Ebdin HHod

3. %

St. Anslem and Patanjali.

L 0OHoE. e men snbain HEoed
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Locke suggests that the idea of substance is
&8 Sroed (Hsetdn a’::-mvg?’@ ©F55m

Options :
Simple idea

SBE e

1. #

Complex idea
Q08 LI

Particular idea
(DBE  GoDS

None of the above
259 52D
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Husserl supports
B LEta) a’):lcééj A

Options :

Absolute |dealism
}ﬁo@ng ejtﬁtjgééaﬁn

Absolute Empiricism
‘éo?{z_-}vg RV AT Y
2. ®

Transcendental ldealism

3 ¥ aod3es @tﬁégé&fﬁ)



Transcendental Rationalism
il BpeHatsdn

Question Number : 91 Question Id : 51714410594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Leibnitz defines monads as
©e5esoh DD BHVE mer ABDoB

Options :
Physical Object
, 88 555
1.

Mental Object
s B8

Centres of force or energy
2o, 48 Bolmren

none of the above.
239 =08
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Match the following by using the code below
B0 B85 S5B0EHAMN) asBcinim

List | List Il
(Thinker) (Doctrine)
eSS htts ?;::t:rgoava’m
a. Descartes i. Doctrine of Modes
&R 5280 B3 Drrossm
b. Berkeley il Doctrine of Monads
E::E&@ﬁ) oedoh ?omgcéa‘m
c. Leibnitz iii Esse est percipi
886508
d. Spinoza iv. Doctrine of Innate |deas
5\};\550&“ HsTEEs EEHne ?amgoéén
Code:
B!
Options :

| % a-iv, b-i,ci, d-ii

a-iv, b-iii, c-ii, d-i
2. ¥

5 % a-ii, b-iii, c-iv, d-i

a-iii, b-iv, c-ii, d-i
4. %
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Wittgenstein authored
E}ﬁeﬂmfﬂﬁ Bhla)

Options :

” TractatusLogicoPhilosophicus
1‘ -



Critique of Pure Reason

On Certainty

3. %

4 % Zettle.
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The enjoyment of the fruits of the karma that yet has not been started is called
88 dsrodh odgidobHer onodd larBogio sedafsind

Options :

Sancita Karma

Hodes ﬁﬁé oo

Sanciyamana Karma
SlelelonlaviaBlel R Telab ey

Prarabdha Karma
87 BY) @othdd

Anarabdha Karma
E‘eﬂ“ﬂﬂ% éé& ®@0otHth
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Which one of the following is the correct sequence?
& BIDD ISP DB BOHFED (Eosw.



Options :
Jagrat, Susupti, Svapna

L R - ] i w
\ y M
- a’}ﬁaﬂ, SV RS =)

Jagrat, Svapna, Sususpti

5 ePi)B, Y, 050y

Svapna, Susupti, Jagrat
%), ADEDa), RS

3. %
Susupti, Jagrat, Svapna
A% 003, ﬁ“ﬁE}@, Sy
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Prabhakara and Bhatta schools of Mimamsa differ on the following concepts
Estai=tel zﬁ%t} Sodrod ?omgoaven & BKHS grddsd Susd £T700.

Options :

Pramafa, Prameya, Dharma
&m0, ([Habaho, cﬁﬂﬁéo

1. ®

Pramana, Prameya, Khyati

- 5o, [Habsho, TS

Prameya, Khyati, Dharma
3 % Bababo, 53, Cﬁﬂﬂé@

Pramana, Dharma, Khyati

L [&rea0, fﬁtﬁéo, g5
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Which one, according to the Jainas, is not ‘AstikayaDravya™
2de (Hsebdm & BHH 0E° 06 ©Rsedh (585N S,

Options :

Jiva
A5

Akasa
y ©O5eE

Kala

S

Dharma

ale)]

4, %
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The kinds of conjectures used by Descartes to doubt every proposition that he
possibly could are:

(7 5200 & J0HKON HBFEEH Sodonohedh EH &ske Sseen
Options :
Dream conjecture and God

Ko &35 SO0 FHw

1. #

Evil demon conjecture and holy ghost
2gre & HBAW DAE ©)



Dream conjecture and evil demon conjecture

Lo So s, 5 48 e

God and holy ghost conjecture

4% B0, DG ©98) &
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If A proposition is true. E, | and O propositions are
2 (DAFES HBDITS, 3, ®, & (DAFSHen

Options :

false, true and false
@mﬂmﬁo, Qezo $0bBw E}aﬁgo

false, false and false
@mcée, @mgo s0bain @mtga

true, false and false

Qezo, @ato ubdin ®ado
3 \'.:-"'" [~ [~

true, true and false.
fezo, D20 B &f:-e:m:‘go
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The mood of a syllogism depends on
26588220 grdo BID sErdHd Gotnod

Options :



quality of premises

% 566 ;Fsagr’_‘a

quantity of premises
286 HBTEIM

both quality and quantity of premises
566, Iy, HBresin ot

quality and quantity of premises and conclusion

v 066 ey, HBsreedn SOAn dwho
4. ¥
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Determining the validity and invalidity of arguments is the special province of
aetinie H|Sinan, eSihaned R}g::mox:ﬂ}éa e BIND Cﬁﬁﬂég}g Sle A el A8 AN

Options :

Inductive logic
estfais S8sm

Deductive logic

DS S
2.

Symbolic logic
3 % L‘J}@Sﬂé&é S5m0

Traditional logic
PO(ITPADE E8)Hm
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In categorical syllogism, the middle term is the term that occurs in
DHe DS’Raosd, s @5& & B85S S oo

Options :

Major premise only
e (DD Sr(Ead

Minor premise only
DB (HDH Se(adh

Both major and minor premises
e, DB Bod (DD

Conclusion
SnhoHS

4. %
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A statement form that has only false substitution instances is called
@08 [DErgEroh Gordrdn So DHOE Brakd)) oner ©otr
Options :

Tautology
eee5Perd

Contradiction
SeisEn
2.



Contingent

eaf o8 m
3. %
Implication
Eoéaﬁ:m{,ﬁé
4, %
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Who is the author of the famous anthology ‘Linguistic Turn'?
'ﬁ.’)oﬁ&%g 0) o [Hdng Hoded Shons
Options :

G.E. Moore

1. %

) % Bertrand Russell

Wittgenstein

3. %

Richard Rorty
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Who made the distinction between sense and reference?
gPasim, S S0gs 2o Grodbs

Options :

Frege
1. ¢



_ Wittgenstein
2. %

Quine
3. %

4 % Dummett
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The founder of modern phenomenology is
AR &R apHsac
Options :

Brentano

, % Meinong

Husserl

FPierce
4, ®
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Who among the following contributes to Critical Hermeneutics?
BHES TrDRmBE) 50K
Options :
Heidegger



) Habermas

i % Rorty

4 » Gadamer
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The term hermeneutics covers
lﬁﬁéﬁ}éﬁ% g

Options :

Understanding Text
B E}goé;ﬁagﬁm@

1. %

Interpretation of Text
) BE5i0 B0t

Both a and b
2 a,b BoHi

Neither A and B
2 a,b Jo¥r =
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Name the author of the book ‘Logical Investigations’
“erPRBeS aﬁ&%ﬁa’iﬁ} " BSomns

Options :



Wittgenstein

Husserl
2.

Dummett

Heidegger
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Realists admit the existence of
TFHDETen B S8 RS)iSTelhiler

Options :

Innumerable objects

| ¢ éé@rﬁ%ﬁ‘)?\j& BRTEYeD

One object, i.e., God
- 2.8 D08y odrr dssin

Two objects, viz, God and Mind
Coh Hdnaden @aan, o)

Mental Objects
BPRNE Bena)en
4, ®
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How many kinds of causes are recognised by Aristotle?
Y Bs7 seBereln ©dr8S Kigo.

Options :
Three
YV RY)

1. ®
Four

) o TP
Six

3 % @0

Ten

4% &
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Who has introduced the concept of Logical Syntax?
a8 Qoees ARSI @ﬁﬁj@iﬁ&.

Options :

Carnap
1. ¢

, % Schilk
Wittgenstein

None of the above

. % 2 aFBHEr S°%
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Match List | with List || and select the correct answer using the code
given below:
dee |, e Il & 2830 B85 65@BrAG) SBGN sarandd dobddcingn

List | List Il
Thinker Books
a&P S S 2DRsEen
a. Frege i. From a Logical Point of View
b. Russell i. Sense and Reference
c. Wittgenstein jii. The Blue and Brown Books
d. Quine iv. My philosophical Development
Codes:
&8&y:
Options :

a-iv, b-iii, c-ii, d-i

5 % a-ii, b-iv, c-i, d-iii

3 a-ii, b-iv, c-iii, d-i

a-iv, b-i, c-ii, d-iii
4, =%

Question Number : 114 Question Id : 51714410617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one labelled as Assertion(A)and the other labelled
as Reason (R). In the context of these two, which one of the given options is true as
per logical positivism?

BI9% Both D3BBen cndigpdID. a8d HDEBm (A) ikt semsm(R). S

Co&& éotﬁ@_a’m@ﬁ,@vﬁg rinEred (Heedin siead Jod¥edd HB
FSlalenstnta)
Assertion (A)- Metaphysics is- non-sense.
iﬁdﬁéém(aﬂ)- SErPELY) eYo GHR
Reason (R)-Metaphysical statements are not verifiable.
5286w (R) - trdH)) VB0Een $8SE BOASY =5
Codes:
S
Options :

Ais true and R is false and R provides a correct explanation of A.
A JBahds R s°tHh R, A Ging) HBGHS DHBes

Both A and R are true and R provides a correct explanation of A.

, v AR Bo $5BGEHE R, A @) SBGED DHHBes

Both A and R are false and R does not provide a correct explanation of A.
A R Both $BG5S s R, A G H8GH B8 505

A is false and R is true and R does not provide correct explanation of A
A DBEHXE seth ROBEHES R, A aing) H8chd D8 57t
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According to Sankara, the world is
FoEH |Hsedsin ([Baodsn

Options :



Real

S°R0
1. ®

Ultimately Unreal

©085006° earddo
2. ¥

llusory
3 % [agtelisteNatntal

Like a dream

4 % 5o o6
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Match List-l with List-1l ad select correct answer by using the given code:
rdee |, O erdee || 8 28555050 9830 856 aB@rA% $BGS

a3aPEnR) woHEDBEnsn

List | List Il
(Theories of Error) (Philosopher/School)
&4 OTROE°ED éiﬂéﬁé fTposo

a. Akhyati i. Prabhakara

L)

b. Viparitakhyati ii. Nyaya

&ééém@&

C: Anyathakhyati iii. KumarilaBhatta

CIVNL N

d. Adhyasa iv. AdvaitaVedanta

Claid

Codes:
S°8)
Options :

a-i, b-iii, c-ii, d-iv
1. ¢



a-ii, b-i, c-iv, d-iii
3 % aii, biv, c-i, d-i

4% a-ii, b-iii, c-iv, d-i
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Which of the following is NOT correct regarding pragmatism?
TgRBE HeErEEns® S BrDd 0E° DB HBFHE 5K
Options :
Pragmatism accepts any definite/ eternal truth or principle
5008 Seraridn PNSHD HRS J&7 [ Srleedy ©ohE6:0bH
1.¢¥

According to the pragmatists truth is manmade

Sg3e5e08 Hepartisin (25e8amn D e éﬁm&méw
2. % =

Pragmatists do not support spiritualism
3 % 508 Jaartdim th}ﬁﬁ@ééeﬁé] a’mgémnéé&a

Pragmatists stress equally on acts and thoughts

&sT°08 Hazartiam, e - Frddorh SErdore k.
4. %
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Richard Rorty argues that the pragmatists hold a view that could be described as
5B Do efErdbo Bodd el oner DSBoze SV 836 Sﬁg

B
Options :
Objectivist
oF 50
1. %

Ethnocentric

a8 BolBK
2. ¥ s

Self-refuting
f}u%dﬁ} PO

Equivocal
éo@é@é
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The domain of ethics that includes professional ethics and practical ethics is
termed as
)8 DB Deben,sSberdEleen od &) 388 Fler)

L

Options :

Positive ethics

- e Heen eotHth

Applied ethics

) & 05588 Dden ©oHB

Normative ethics
Kelsarcd Deben eothth

3. %



_ Meta-ethics
4, ®
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The notion of ‘Corporate Social Responsibility’ is related is
?SEEEEE FERE ez rddi BS° HomotsEnod

Options :

Medical ethics
33 Deben

Business ethics
m;ﬁvé Hetoen

Media ethics
3 % (D08 Defoen

Bio ethics
25 Hedoen
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Who put forward strongest arguments against abortion?
KB erarR8 Eﬁé@ééonﬂ 58 sEsSen 3256

Options :

Liberalists

Sortaednen
1. %



Feminists

& s
2. %

Consequentialists
i % BRI arethoen

Conservatives

Doldordh aethen
4.
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Who wrote the famous philosophical work ‘Thus Spoke Zarathustra'?
& DB aroredl) o se8)E (Hsop BS5S INH56

Options :

Friedrich Nietzsche
1. ¥

Soren Kierkegaard
2. %

Martin Heidegger

3. %

4. % Albert Camus
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The principle of non- contradiction is a fundamental concept inthe
philosophy of
athzo 526 ©3 o Srgen S HIDS T e TR (@PE3 808 g,

Options :



Kant

Aristotle
2.

Thomas Hobbes
3. %

Hume
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The philosophical concept of Nihilism suggests that
FrRgartida) S&TR gran JrrdohHe

Options :

Everything is connected

[ % 58 DrNDB Ho2OPEW0LNOH

Life has no inherent meaning and value

D8 Jxgrdd @Bdn, Dend
2. ¥ M ®

Reason is the source of all knowledge
. se8Essin JRBeETrls DB

The mind and bodies are separate entities
5055, $6850 3% &'J%}]@'%E}J

4, %
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According to existentialism, the individuals are responsible for giving meaning of
their own existence. Which philosopher is closely associated with this idea?
@%}Jéﬁg a8 (585w, sgEien S &VEE @g&’m md}l}éaeﬁﬁ a0 grtiogen

& St & éééﬁéé} SH5 Somogo Gob.
Options :

Jean-Paul Sartre
1. ¢

» % Friedrich Nietzsche

. Albert Camus

4 % Simone De Beauvoir
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According to Kant, a person becomes aware of the freedom of his will because
57085 (5780 a8 %8 BJ e&&-%@ ﬁéz‘ﬁtjéj B8 ntrd8 soteeo
Options :
It is an apriori condition of the experience of obligation.

, o aridngrds) (Do E(}élj 2D
1. #

He has empirical experience of it.
) % ©308 ool edgrdl engidin &od

It is an apriori condition of experience of senses.
e0f) Bo|BASTNE S rbe (¢ 8h S8

It can be demonstrated by science.
PR FRHSE8am (2880UHW.
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Point out from the following statements the correct reasoning as regards Hume's
statement that ‘self is a fiction’
35055 D368 fn&dﬁ; oS & &IODH DB6Ee o8 HBAHID seeSD

£ 6O Lol Sensd)in
Options :
Self is ego.

 Eeohd esto
] ® o

Self is unreal ‘I’ entity.
Rrah ©36 warsso “ F 7 ©ReE0

2. %

Self is mere association of semi-impressions.

3 RIdD @b Bdwo &) Sl SwoE

Self is a witness.
Sa f‘oﬂgﬁﬁjo 2 P8

4. %
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‘Fire is cold, because it has coldness’ the inference commits the fallacy of
‘ofl) S8 s°8mo S’ Soito sob’ * emsENEIrGe T & oifiro

>88:508.

Options :

Anaikantika
| % ©Js°08E



Badhita
RS

Asiddha
&9?’3%

Satpratipaksa
HS(HBHBE,
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Who among the following holds that the Karana - samagri of jiana is also the
Kéarana-Samagri of its validity ?
S S0 PSn - o0 dende e SN Eree & grdd Soart

Options :

Gautama
A°e85

1. *

Kanada
) #® Seadd

Kumarila

Baebe
3.9

Nagarjuna

TP
23
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Prama according to the Buddhists is
endrpe (B5°80 (a0

Options :
Ajnata tattvartha jiana

v E}E_-;é éeﬁg_‘jn 229500

Tadvati tatprakarakam jianam
S8 SS(Hsedo epdo
2. % ) =

Samyak jianam
RENES %éo

Anadhigata-abadhitartha jAianam
Srvitnlats] @W&J@Ug m;;’ao
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The Self in the state of waking (jagrat) is termed by MandikyaUpanisad as
foab el 88’ HAD Srodry; GHANHE® S Diforr HBID

Options :
Vaisva

34

1. ¢

Tejasa
) % Bed

Prajia
5083
3, % g



Turlya
2ylalony
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Match List-1 with List-1l and select correct answer by using the given code:
wedee Lader || & 2858550 65 s5@rA%) HBES saranid

DodE Dohodo

List | List 11
(Books) (Philosopher)
a)nS°een e‘.ﬁé‘g}ﬂé
a. Slokavartikam i. Udayana
PLrbso JR=afevvr)
b. MadhyamakaKarika ii. Ramanuja
Avalvavi-R=gol! [NV
c. NyayaKusumanjali lii. KumarilaBhatta
Tgad Hisvoerd £arbe gf%
d. VedarthaSamgraha iv. Nagarjuna
3@13%5 e LGOI
Codes:
58,
Options :

a-i, b-iii, c-ii, d-iv
1. ®

5 % a-ii.b-I, c-iv, d-iii
» a-iii, b-iv,c-i.d-ii

3

« a-ii,b-iii, c-iv, d-i
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According to the Nyaya school, ‘Samanya Laksana, Jidna Laksana and Yogaja’
are three different kinds of
e ?;:m;oéﬁo Esizitelol %ﬂ&’)}néé eges, %‘;{6 ofe anfe @hdd S HHD

a8 2o Bseen

Options :
LaukikaPratyaksa
P8 ek
1. ® ) 8,
AlaukikaPratyaksa
G788 (eicE
2. ¢ ” %=
_SvérthaAnumana
N ﬁt;gtg 29: 0378

Parartha Anumana
% Do°E er0aPN
4, ®
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According to Acarya Ramanuja, ‘Aprthaksiddhi’ is a relation between
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Jagat and Brahman
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Which one among the following schools holds that Avarana and Viksepa are two
powers ofAvidya?
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Which one of the following theories of causation is upheld by VallabhaAcarya?
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‘Acintya-Bhedabheda-Vada' is a theory that explains the relation of Jivas with
Brahman as one of difference and identity. Who among the following Vaisnava
thinkers holds on to this thesis?
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Vallabha
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Chaitanya
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‘Sataddshani’ is a vada-grantha that contains arguments and criticisms against
Advaita theory of Sankara. Who among the following Vai$nava thinkers is the
author of the book?
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What is the name of the commentary that Ramanuja Acarya wrote on
Brahmasdatra?
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‘Consequence of action is the basis of moral judgement’ is the theory attributed to
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Emotivism
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Which one of the following thinkers has considered Justice to be a ‘Cardinal Virtue'?
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Aristotle
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According to Moore, goodness is
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‘Moral judgements are not assertions but merely emotive expressions’ is the view
advocated by
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Free-will in ethics means
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The individual is free to do anything
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The individual is Not free to do anything
568 QBT S0 Peh&® Sohdo
) % ] Q_KPog}D_DcQESJ Vi

The individual has to act according to the state laws.
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The Individual is free to act keeping in view some of the norms.
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‘BEudemonism’ in ethics means
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Who among the following contemporary thinkers said, ‘God is Truth’ and ‘Truth is
God'?
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Swami Vivekananda
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M.K. Gandhi
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Which one of the following books contains ethical concepts such as
‘LokaSamgraha’ and ‘Bhdtahita’?
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Bhagavad Gita
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‘Angel of Surplus’is a notion connected with the philosophy of
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‘Non-violence is the law of our species, as violence is the law of the brute’is a
statement from the works of
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Rta in Vedic cosmology means
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Permanency of the world
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The order of cosmos and the world.
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